
https://www.pass2lead.com/1y0-312.html
2023 Latest pass2lead 1Y0-312 PDF and VCE dumps Download

 

 

 

1Y0-312Q&As

Citrix Virtual Apps and Desktops 7 Advanced Administration

Pass Citrix 1Y0-312 Exam with 100% Guarantee

Free Download Real Questions & Answers PDF and VCE file from:

https://www.pass2lead.com/1y0-312.html

100% Passing Guarantee
100% Money Back Assurance

Following Questions and Answers are all new published by Citrix
Official Exam Center

 

 

1Y0-312 PDF Dumps | 1Y0-312 VCE Dumps | 1Y0-312 Study Guide                                1 / 7

https://www.pass2lead.com/1y0-312.html
https://www.pass2lead.com/1y0-312.html
https://www.pass2lead.com/1y0-312.html


https://www.pass2lead.com/1y0-312.html
2023 Latest pass2lead 1Y0-312 PDF and VCE dumps Download

QUESTION 1

What does a Citrix Engineer need to know when adding a new StoreFront server, in terms of StoreFront scalability? 

A. StoreFront server groups containing a combination of operating systems are supported. 

B. All servers in a server group must reside in the same location. 

C. All servers in a server group can reside in multiple locations. 

D. StoreFront server groups containing a combination of StoreFront versions are supported. 

Correct Answer: B 

Reference: https://docs.citrix.com/en-us/storefront/3-12/system-requirements.html 

 

QUESTION 2

Scenario: An existing setup of session recording has stopped working. After investigating, a Citrix Engineer finds that
the Session Recording Agent cannot connect to the Session Recording Server. The following error is displayed: 

"The underlying connection was closed. Could not establish a trust relationship for the SSL/TLS secure channel. " 

Which two issues could cause this error? (Choose two.) 

A. The Session Recording server is down or unavailable to accept requests. 

B. The sessions are started but a request for a record policy evaluation was NOT made. 

C. The server hosting the Session Recording Agent does NOT have a CA certificate. 

D. The Session Recording server is using a certificate signed by a CA that the server hosting the Session Recording
Agent does NOT trust. 

Correct Answer: BC 

Reference: https://docs.citrix.com/en-us/xenapp-and-xendesktop/7-15-ltsr/monitor/session-recording/
troubleshooting.html 

 

QUESTION 3

Which component must a Citrix Engineer use to configure security settings on User Layer folders? 

A. Delivery Controller 

B. Site database 

C. File server 

D. Enterprise Layer Manager (ELM) Server Management console 
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Correct Answer: C 

 

QUESTION 4

In which two ways can a Citrix Engineer encrypt communication between the Virtual Delivery Agent (VDA) machines
and Citrix Workspace app? (Choose two.) 

A. Install a certificate on the Delivery Controllers. 

B. Enable TLS on the VDA machines. 

C. Install a certificate on the VDA machines. 

D. Enable TLS on the StoreFront servers. 

Correct Answer: BC 

Reference: https://docs.citrix.com/en-us/storefront/downloads/end-to-end-encryption-with-xenapp-andxendesktop.pdf 

 

QUESTION 5

Scenario: A Citrix Engineer is managing Virtual Delivery Agent (VDA) registrations in a Citrix Virtual Apps and Desktops
environment. 

In which two types of deployments will the auto-update policy for VDA registration be self-managed? (Choose two.) 

A. Deployments that use Citrix Provisioning with a write cache drive. 

B. Deployments that use the Delivery Controllers or Controller SIDs policy setting. 

C. Deployments that do NOT use Controller groups. 

D. Deployments that use ListOfSIDs. 

Correct Answer: BD 

Reference: https://docs.citrix.com/en-us/xenapp-and-xendesktop/7-6-long-term-service-release/xadcontroller-intro.html 

 

QUESTION 6

Scenario: A Citrix Engineer created four application layers with different applications at different time stamps as shown
below: 

App Layer A – Microsoft Office Professional – 15/08/2019, 14:28 App Layer B – Adobe Acrobat Reader and Cisco
Webex – 14/07/2019, 11:45 App Layer C – Active Directory Users and Computers, Citrix Studio – 20/08/2019, 16:10
App Layer D – Google Chrome and GoToMeeting – 27/07/2019, 10:35 

Which layer would hold the highest priority in this scenario? 

A. App Layer A 
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B. App Layer D 

C. App Layer B 

D. App Layer C 

Correct Answer: D 

 

 

QUESTION 7

A Citrix Engineer needs to return an environment back to normal operations after a Disaster Recovery (DR) occurred. 

Which two tasks does Citrix recommend to move the users from the backup datacenter to the primary datacenter?
(Choose two.) 

A. Terminate existing user sessions. 

B. Block access to the Disaster Recovery datacenter. 

C. Enable access to the primary datacenter. 

D. Block access to the primary datacenter. 

E. Enable access to the Disaster Recovery datacenter. 

Correct Answer: AC 

 

QUESTION 8

Scenario: A Citrix Engineer is configuring a User Layer for Windows 10 VDI users. The engineer needs to store only
users’ Microsoft Outlook data and settings in the User Layer. 

Which User Layer requires the least amount of administrative effort to meet this requirement? 

A. Citrix Profile Management with Full 

B. Office 365 

C. Session Office 365 

D. Full 

Correct Answer: C 

 

 

QUESTION 9

Which tool should a Citrix Engineer use to change the priority of an application layer to meet business requirements? 
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A. PowerShell on ELM server 

B. ELM Management console 

C. PowerShell on Delivery Controller 

D. LayerPriority Utility 

Correct Answer: D 

Reference: https://support.citrix.com/article/CTX225934 

 

QUESTION 10

Which three layers are stored in the storage repository of the Enterprise Layer Manager (ELM) Appliance? (Choose
three.) 

A. Application 

B. User 

C. Platform 

D. OS 

E. Elastic 

Correct Answer: ACD 

 

QUESTION 11

Scenario: A Citrix Engineer configured two Sites: Production and Disaster Recovery. During an outage in the Production
Site, the Virtual Delivery Agent (VDA) registration in the Disaster Recovery Site has failed. 

What are two possible causes for this issue? (Choose two.) 

A. TCP port 443 is NOT open between the VDA and Delivery Controllers on the Disaster Recovery Site 

B. The VDA is configured with a GPO to register with the Delivery Controllers from the Production Site 

C. The Delivery Controllers were set manually during VDA configuration and point to the Production Site 

D. The Delivery Controllers in the Disaster Recovery Site were NOT able to contact the Delivery Controllers in the
Production Site to complete the registration process 

Correct Answer: AD 

 

QUESTION 12

Scenario: There are two domains in an organization: Domain A and Domain B. A Citrix Engineer configured SAML
authentication for Domain A, without implementing Citrix Federated Authentication Service (FAS). 
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While launching the Citrix apps, the Single Sign-on will __________. 

A. work for users from Domain A and NOT for users from Domain B 

B. work for users from Domain B and NOT for users from Domain A 

C. work for the users from Domain A and Domain B 

D. NOT work for the users from Domain A and Domain B 

Correct Answer: B 

 

QUESTION 13

Within Workspace Environment Management (WEM), the engineer needs to increase the default Active Directory
search timeout value of __________ under the__________ option of Active Directory Objects to correct this issue. 

A. 1000; Advanced 

B. 1000; Rules 

C. 500; Advanced 

D. 500; Rules 

Correct Answer: A 

 

QUESTION 14

What is the first step in the migration process of an on-premises Workspace Environment Management (WEM)
environment that is currently in production to a WEM Citrix Cloud service? 

A. Reinstall the WEM service agent on managed machines. 

B. Export the data within the database to a SQL file. 

C. Download the migration tool from the WEM service Downloads tab. 

D. Modify permissions on the infrastructure service. 

Correct Answer: C 

Reference: https://docs.citrix.com/en-us/workspace-environment-management/service/migrate.html 

 

QUESTION 15

Scenario: A Citrix Engineer is maintaining a Citrix Virtual Apps environment. The engineer has recently noticed two
single-threaded applications consistently consuming 25% of the CPU resources, causing substantial performance
issues for users of these servers. The engineer has deployed Workspace Environment Management (WEM) within the
infrastructure and enabled CPU Spikes Protection. 
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What else can the engineer enable within WEM to address this issue? 

A. Exclude Specified Processes and add the two problem applications 

B. Process Affinity and add the two problem applications 

C. CPU Clamping and set it to 10% for the two problem applications 

D. Limit Sample Time and set it to 10% for the two problem applications 

Correct Answer: C 
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